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Add the thousands.
5 + 1 = 
So, Hunter hiked
 
 
feet
 on the nature hike.
) (
Add the tens.
8 + 2 = 
Regroup as
1 hundred.
) (
Adding four-digit numbers is just like adding three-digit numbers.
Read the problem.
One mile is equal to 5,280 feet. Hunter went on a nature hike. First, he hiked one mile, and then he hiked another 1,323 feet. How many feet did he hike?
First, estimate to the nearest hundred.
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Now, find the exact answer.
) (
 +
   1,323 
→
) (
2.   
$4,828 + $3,184 = 
) (
Selma traveled 1,298 miles last year. She traveled 2,781 miles
this
 year. How many miles 
has
 Selma traveled in two years?
) (
At Cliffside Park, there are 1,121 maple trees and 1,109 
beech
trees
.  How many trees are in the park?
) (
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Reteach
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,349 + 1,223 = 
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Find each sum. Use estimation to check for reasonableness.
) (
Add the hundreds.
[ 1
 ] + 2 + 3 =
) (
Add the ones.
0 + 3 = 
) (
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5,280 →
) (
Add Four-Digit Numbers
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Name 
 
Date 
)
